Sample DE Shaw Questions

Aptitude Questions:

What is the total number of squares in a 8*8 chess board that refer odel?
a. 200
b. 150
c. 202
d. 204

In a product of integer from 1 to 100 how many zero’s will you find?
20
.22
24
.21
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Which is that least number when divided by 4, 6 and 7 leaves a remainder of 2?
a. 80
b. 86
c. 82
d. 90

e What will be the number of matches to choose the champion to be held while in some
game 139 members have participated when every time one fellow will get by?

a. 130

b. 135

c. 133

d. 138

e There are 2 typists, one who types fast takes 2 hour to type the data and the slow typist
takes 3 hours to type the same data, if we ask both the typist to work together, how much
time will they take to finish the data?

a. 1 hour and 12 min

b. 1 hour

c. 1 hour and 30 minutes

d. 1 hour and 10 minutes

e Based on the given data, tell how many families will own only T.V, when out of 100
families in neighbourhood, 55 families own radio, 75 families own T.V. and 25 families own
VCR, 10 families have all the electronic items whereas each family that owns VCR also has a
T.V.

a. 30

b. 40

c. 50

d. 100

e What will be the length of a rod which is made of 11*8*2 inches of solid ice and the
diameter of the rod is that of 4 inches?
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a. 3.5"
b. 3"
c. 4"
d. 4.5”

e If 3 peach, 2 kiwi and 1 pineapple cost 10 rupees and 2 peach, 3 kiwi and 4 pineapples
cost 15 rupees then what will be the cost of 3 peach, 3 kiwis, and 3 pineapples?

a. 15 rupees

b. 20 rupees

c. 10 rupees

d. 25 rupees

e What will be the previous salary of a person when his salary is increased by 1200 rupees
and tax is decreased by 2%, i.e. from 12% to 10% but is yet paying the same amount of
tax?

a. 5000 Rupees

b. 6000 Rupees

c. 6500 Rupees

d. 7000 Rupees

e A report has 20 sheets each of 55 lines and each line consists of 65 characters, if the
same report has to be retyped with each sheet having 65 lines and each line having 75
characters each, how many pages will you be able to reduce with this work?

a. 35

b. 25

c. 22.5%

d. None of the above

e What will be the probability of a number chosen between 100 and 999 does not contain a
77?

a. 1

b. 0.50

c. 0.25

d. 0.72

e Based on the data available, find out how many songs were sung to make the public zero,
when there were 750 people when the first song was sung and after each song 50 people
left the hall?

a. 16

b. 15

c. 14

d. 12

e What is the conclusion of the given statement:
All green are blue and all blue are white

a. All white are blue
b. Some blue are green
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c. Some green are not white
d. Some white are green

e Based on the given data, answer the following questions:
Kya Kya is an island in the south Pacific. The inhabitants of Kya Kya always answer any
question with 2 sentences, one or which is always true and other is always false.

1. You find that your boat is stolen, on questioning 3 inhabitants of Kya Kya island and their
replies were, choose the one which was true>

a. Krishna: I did not do it, I do not know who did it
b. Mathew: I did not do it, Krishna did not do it
c. John: I did not do it, Mathew did not do it

2. There is only open pilot in the island, you interviewed 3 men Kiosk, Lorry and Mishra and
u notice that Kiosk is wearing a cap.

a. Larry: I am the priest son. Koisk is not the priest
b. Koisk: I am the priest on this island only priests can wear the caps

e After how many minutes will a person reach the top of a mountain, when he is climbing of
60 MTS, for every minute he is climbing 6 MTS and slipping 4 MTS?

a. (50 - 5)/2 + 1:25
b. (60-6)/2 + 1:25
c. (60-6)/2 + 1:28
d. (60 - 6)/4 + 1:28

Technical Questions:

* What shall be the output of the below mentioned program?

#include

main()

{

Struct s1 {int I; };
Struct s2 {int I;};
Struct s1 st1;
Struct s2 st2;

St1.i=5;

St2 = stf;
Printf(“*%d”,st2.i);
}

* What shall be the output for the below mentioned ‘C’ program?

#define AREA(X)(3.14*x*X)
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main()
{floatr1=6.25,r2=2.5,a;
a=AREA(r1);

printf(*

Area of the circle is%f”,a);
A=AREA(r2);

Printf(*

Area of the circle is %f”,a);

}

» Explain the following statements, what do they indicate?

Int(*p)[10]
Int*f()
Int(*pf)()
Int*p[10]

» Write an algorithm for finding the GCD of a number?
* How will you swap two variables x and y without using a temporary variable?
» Write a C program that reverses the linked list

« If you have to check if a stack is progressing in forward or reverse direction, which C program will you
write to find the same?

« If you have to find a missing integer where the integers from 1 to n are stored in an array in a random
fashion but one integer is missing, which program will you choose to write?

* In the given program, what does ‘nodeptr’ stand for?

Typedef struct{
Char*;

Nodeptr next;
}* nodeptr;

* a=10; b=5; c=3; d=3
if (aprintf(%d %d %d %d a, b, c, d)
else printf(*%d %d %d %d a, b, c, d);

o =45 I'=47

Printfr(%d/n, =, =, =", =0T,
o/p="?

12.0/p="?

int [;

i=1;

i=i+2%i++;

printf(%d,i);
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* What shall be the output of the following program when supposing that each integer occupies 4 bytes
and each character 1 byte?

#include

Main()

{

Int a[]1={1,2,3,4,5,6,7};

Charc[] ={a, x, h, o, k};

Printf(“%d %d”, (&a[3]-&a[0]),(&c[3]-&c[0]));

a. 3.3
b.3

c.2.3
d. 3.5

* Int a=1; b=2, ¢c=3; *pointer;
Pointer=&c;

a=c/*pointer

b=c;

printf(“a=%d b=%d",a,b,);

a.3 2
b. a=1b=3
c.a=3b=3
d. error

* FILE*fp1,*fp2;
Fp1=fopen(“one,"w”)
Fp2=fopen(“one”,"w”)
Fputc(‘A’,fp1)
Fputc(‘B’,fp2)
Fclose(fp1)
Fclose(fp2)}

a. Error
b. No error
c. None of the above

* Solve:

Int sum(n)

Int n;

[f(N<1)return n;

Else return (n+sum (n-1))

a. 16

b. 15
c. 10
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d. 14
* Find the output of the following program:

Main()
{inti=3;
While(i--)
{

Int i=100

printf(“%d..”,I");
}
}

a. Error

b. 3..22..1..

c. Infinite loop
d. 99..99..99..99

HR Placement Questions:

Did you ever face a situation when your work was criticized? What did you do?
If you have never lead in the past, how would you do it in this role?

What do you prefer working with figures, or with words?

Are there any kinds of people you can not work with?

Have you ever fired anyone? How did you handle it?
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